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1. R R [ ofeeh o vT Sewh AR
e - 1x5=5
Choose the correct answer from the following
alternatives in each question :
(o) TFECH Rt Jg[ &
Time series analysis helps
) R T TORE fF T TS / to
compare the two or more series

(i) e WHIT &S / to know the
behaviour of business

(iii) SR¥AM IS / to make predictions
(iv) 8’93 BRI / All of the above
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(b) oI fefead 2’9 wma

Base period for an index number should
be

() <61 3 @
a year only
(i) @1 SR I
a normal period
(iii) 9Bt [ WS IE
a period at distant past
(iv) 8RR b8 T
None of the above

(c) vRR v TR ke Xy
Price elasticity of demand is defined as
0 IR T AReé
T TP TR
Proportionate change in demand
Proportionate change in price

R TEefes AfRada
Q@ AR “ifigd

Proportionate change in demand
Proportionate change in supply

sifdw «ifReda
] AR

Change in demand
Change in price
il
QR offRee
Change in demand
Change in supply

(@)

(iti)

(iv)
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(3)

(d) oafiFe PR T Rowsr wze =

(e)

20P/285

Standardized death rates are particu-
larly used for
(i) I O MR PR [ Tl IS

comparing the death rates in males
and females

(i) B! TR TR I Tl IS
comparing the death rates of two
regions

(iii) (i) SF (i) I TCAO
Both (i) and (ii)

(iv) (i) % (i)3 e T/
Neither (i) nor (ii)

FRIF GBS Tt AR QNYIR OROT

T 4]

Variations in the items produced in a
factory may be due to

(i) AT PRI IR
chance causes
(ii) AffRe IR W
assignable causes
(iti) (i) ST (i) TCAO!
Both (i) and (ii)
(iv) 8RR <18 =W
None of the above
{ Turn Qver )
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2. R PIIBR 5 T famy 2x5=10

Answer the following questions in brief :

{a)

(b)

(c)

(d)

(e)

3. (a)

20P/285

T Resw MR siisdr sigemoey
01

Discuss mathematical models for a time
series analysis.

m&ﬁqmmﬁswmmqﬁw
M W2

What is general fertility rate and how can
it be determined? :

T A <R <=y

Explain the factor reversal test.

RENRE 19 fgre a4 g eiftrgy I
@ ‘ |
What do you understand by control
charts in statistical quality control?

g T’ P & qm e
What do you understand by ‘equilibrium
price’?

e Ro I W TR
T R o [ TR Ry i
SICAEAT 341 | 2+1+2+2=7

What is time series? Give two examples
of time series. Discuss briefly about any
two components of time series.
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5%_T / Or
(b) IECTNT ¥9FB ARIer o [T ez
fr R 7 €% TR R I 31 afeR R
3 0 1+3+3=7
What are the different methods of
measuring seasonal- variation in time

series? Discuss any two of these
methods.

4. (@) v Gz W pae B2 K Bk @
M A TR oI FM1 2+5=7

What is cost of living index number?
Discuss the methods for the
construction of cost of living index
number.

Y31 /Or

() e FPra & @ e R a@fs
TEH T3 I TR W7 PN IR
SRz Rec Scas 34 | 2+2+3=7

What do you mean by index number?
Why is it called economic -barometer?
Discuss the utilities and limitations of
index number.

5. x=}f_°imﬁmwz3ﬁm, P=3% WRWe ™
" .

e fFda a1 : 5

For the demand curve x = Pz_-(l:-)l’ find the price

elasticity of demand at P=3.
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6. (a)

(b)

7. (a)

()
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(6) |

T ST TPR T SRS Y9R A T
T SRR & 7 @ SRR @S
TR " 3+4=7
What are the difficulties of comparing
mortality rates of two places with the

help of crude death rate? How are these
difficulties removed? '

5331 / Or
& oo o B w2 @ S oifrers
<1 RiSn Tz wmm w0 245=7

What is life table? Explain the different
columns of a life table.

X 9% R Ba @ www =1 mw, g

T R oz REr Frgs S i

MR R R WY e i 542=7

Explain how X and R charts are drawn in,
practice. How would you interpret the
points falling outside the control limitg
on these charts?

%9l /Or
R g1 Fagr P B w2 S
TR oSS WF TSl wnca 4 |
QIR OIS JRZE A Fq1 - 242+43=7
What do you understand by statistical
quality control (SQC)? Discuss briefly its

need and utility in industry. Discuss the
causes of variation in quality.
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( Old Course )

Full Marks : 80
Pass Marks: 32

Time : 3 hours

1. A I /G 1x8=8
Fill in the blanks :
(o) <G SRS T FFFEN wRk[el IW W
|

Seasonal variations are the short-term
variation with period ___

(b) TR FAGREI B TPIRE 324 T AL T
MR 144 W, @ o = Spere
LXK | I \
If Laspeyres’ price index is 324 and
Paasche’s price index is 144, then
Fisher’s ideal index will be .

c) M n=1, BRTwReT ___ @@ =&
If n =1, elasticity is called .

(d) TOR T[ <01 FERer 21 |
death rate is a probability rate.

(e) o g (TR WPRWION AR

Eiel
reproduction rate is the rate of
replenishment of that population.
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17 ARACH ST T RARIPR sur
FEEA QA |
Arrangement of statistical data in
order is called time series.

(g) C-Fozx T P Fwm trg _
UCL of C-chartis _____

(h) Teoifte Tie RS Wﬂﬁw Remwor
1
Chance variation in the manufactured
productis ______

2. TR PIIPR vy Gox o : . 2x8=16

Answer the following questions in brief ;

(a) IR TREAT TR swamr Rz
Define secular trend of time series,

(b) CYSA X RO THIRFR CAR oty oy
TR 5z

(c)

(@)

(e)

20P/285

Show that Fisher’s index number
satisfies factor reversal test.

TR TE AGI TPIRFT N By
Distinguish between Laspeyres’ and
Paasche’s index numbers.

iR ¥ Iferea R g2
What is meant by demand function?

99 ¢ AT NRR = 1. 12 ot & go1 7m0 2
What is meant by saying that the NRR
for a country is 1-12?
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(ol T e Sam SRR eiefe o

Write the differences between complete
life table and abridged life table.

(g) T=3d Pas 3-0 g S &9

What is 3-6 control limits of a control
chart?

() ‘8 WA {2
What is meant by the term ‘quality’?

3. (a) IECHAI FPRRR I 41 | TR Reogrs
e Frfelte g Rl sfumar R
QARF TJeTT W? IEFER BNMORIB/R
&[S ¢t ReEITTs G/ 988 11 2+2+7=11
Describe the time series models. Why is
the multiplicative model used more
compared to additive model in time
series analysis? Write an explanatory
note on different components of time

series.
9t /Or

(b) (i) VB T BRI TS smerer Refy 7 1

Describe the method of moving
average for determining the trend.

(u) ToRfS-Sreme 1l T Ypufie
CRSN T oo 3¢ a1 6+5=11
Describe the method of ratio-to-

trend for determining seasonal
variation in a time serjes.
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4. (a)

(b)

S. (a)
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(10)

[ W —

& g S, A erefe e
R AT, W <R SefReTEy G
TG T R TR, Ty |
AR (PR RS T e eome iy
3efr fieam |  6+4=10
Define the terms—oprice relative,
quantity relative and amount relative
and show how they are related to one
another. Describe wholesale price index
method of our country.

w1 /Or

G 7z I o B0 TR I

R O aweww Rite TCFPYR R
T T 2+2+6=10
What is meant by cost of living index
numbers? What are its uses? Mention
about different steps in the construction

of cost of living index numbers.

aﬁﬁwmﬁmw%ﬂwwﬁmmA
WA T Mews R RfSgerre Qs
Ref o, Bt oot Refmemrem Mazs
TE 94 | 7

Given the demand for a commodity and
its price. How would you calculate the
elasticity of demand with respect to

price? Cite the principles regarding such
elasticity.
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6. (o)

(b)
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(11 )

%31 /Or

6 N X, Y, 27 IR0 53 Fow WiF
@A T2 oo 7al 4909 -

The demand and supply functions for
three commodities X, Y, Z are as follows :
dy =21-5P, +3P, —3P,; S, =3+P,

d, =12+3P, -6P, +3P,; S, =15+6P,
d, =64 -3P, -3PF,-9F;; 5, =10+6PF,

fefieh AR IEe RAWR IR0 o1 ™
i et R fRefg =01 7
Find the equilibrium prices and
equilibrium quantities exchanged for all

the three commodities.

sReT TR SR B R ORe
CRE 3 T4 | - AT e
w-7e SRR Rn Jegalae & R
T-YPN TR A SPIST S91FS SCAGA 1 |
5+2+3+4=14

What are the sources of demographic
data in India? Enumerate them. Define
vital statistics. What are the various uses -
of vital statistics? Discuss the rates and
ratios of vital statistics.

e{qr /Or
iz ot A & @ 2 G oFw @S
oud 3@, I W & eRR R[fen
e B &2 2+8+4=14
What do you mean by life table? Describe

the construction of life table. What are
the various uses of a life table?
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7. (a) TrmerTES AR @1 RIgR ey oo
T T AR 81 FvaR R o

REerR & R (R e o P
IR e1® GRT o | -5+445=14

Explain the importance of statistical
quality control in industries. What are
the advantages and limitations of SQC?
Write notes on control chart for defect
and defectives.

%31 /Or

(b) o Afor! SR FIE B @2 @1 ey
Refre @fon iR fim =2 Siweor
AW WE TRAMFT TOWI SR_S S B
o | Feaa ASR@ P, W% wpnfes wRe p
&1 TR wfere 9 TR |

3+2+5+4=14

What do you understand by acceptance
sampling plan? When is 100 percent
inspection preferred? Write a note on
consumer’s risk and producer’s risk.
Give the definition of OC curve
with probability of acceptance P, and
proportional defective P.

% % %
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